Dividing by Multiples of Negative Powers of Ten (D)

Name: Date:

Divide each number by multiples of negative powers of ten.

36 -6 = 54 -6 =

36 -0.6 = 54 -0.6 =
36 - 0.06 = 54 = 0.06 =
36 = 0.006 = 54 - 0.006 =
36 - 0.0006 = 54 - 0.0006 =
50+5= 40 =5 =
50-05= 40 = 0.5 =
50+ 0.05 = 40 = 0.05 =
50+ 0.005 = 40 = 0.005 =
50 ~ 0.0005 = 40 = 0.0005 =
25 5= 27 -9 =

25 +0.5 = 27 -09 =

25 =0.05 = 27 = 0.09 =
25 +0.005 = 27 +~0.009 =
25+ 0.0005 = 27 +0.0009 =
16 -8 = 63 -9 =

16 - 0.8 = 63 +-09 =
16 - 0.08 = 63 = 0.09 =
16 = 0.008 = 63 + 0.009 =
16 - 0.0008 = 63 = 0.0009 =
6+-6= 20 -5 =
6+0.6= 20 -0.5 =

6 +0.06 = 20 = 0.05 =
6+~ 0.006 = 20 = 0.005 =

6 = 0.0006 = 20 - 0.0005 =
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